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13.. The famous mathematlman assoelated W1th ﬁndmg

the sum of the ﬁrst 100 natural numbers s

(@) /None oI these

: The*lOthterm ofthe AP: 5 8, 11 14

[NCERT Exemplar]

g ,(a) 32 b)Y 357 ey ARy

9 The common dlfference ofAP 4, 10 16, 22
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| common difference i 18 equal to

If nth term of AP is given by a, 3n — 2 then

@5 s o8y (d) g
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If 7 times the 7th term of an AP 1S equa] to 11, :
tlmes its llth term, then its 18th term will'be:'7 "

[NCERT Exemplar] I;' £ I

@ 7 (b) 11” ' (c) 1807 (@0

The 4th term from the end of the AP: ~11,-8,
=5, 49 13 " [NCERT Exemplar].- .
_ (a) 37 (b) 40 (c) 43000 (d) 58

[NCERT Exemplar]

_'(a) Py‘thagoras P __'(b) Newton

(¢) Gauss (d) Euclid



